Solving  Quadrabic.  EBquations by Fackoving

- -
Ex. 1 B 4 ex+H =0 (3Y () =1

R 4 zfq—%x U =

, ‘N bevs Product S
Givomp A Givoup & il
(PR - 2. i2
| | 2 =
(x~42) (X+2) =0
AR 2 O X+ 2 =9
-2 & ' -2 =2
o omm T
> Xz ~2
Ik T -2 2 Solubong » ~%, -2
— 0 ,
Kz ~&
3 ;

Ex.2r §x —lox =2 = 0
x N\ YD = -2y
|8>( """""'Q-%‘ “‘.\2-}( - lln- Q

Numbers | Product Sum
: 2, =\ —y .
Mk Lae =30 =0 | e o

LUx =\ =o L 2x = =0
== +3 -3

by ™ w P10 S
X 20 w4
.,,.,.,::\n L..E : T2 S
S -
e

t

i



SRV
1.  2x upr 43 e
.a.,x - prm%ri% +3> AN

o

ox{ Xmb 4 ) = B =0

A D) (ax=+3y) =

AR A VA T G

G M AAS A

Xt 2 bR
~] -\ j — -2
|
2k wmo= 3
T o
P e, 2,
Q2. ¥+l =g
i
GX%'*‘ IX - BX ’“‘{‘L‘i Fell
e 2% ok D () 520
el ") { x4y =
2x-t] = o Ko =0
=1 - -e-Lal o b
X = | X
IS T3
-k
X = s X "o
. o b

Y '.1

PR Y “\a

(29503 =&

1 Muymbers Product | Sam
' Le ¢ 7
2,3 ¢ 5

,
“

=y Seudions 5 =

®HLW) = 2y

Nuw beys E Proguet | Smq
\,2m § 2 25
2, )2 : A b Loy
3,8 Loy 1




2yt — Ix —6 = O
a9 7" _

Q.3.

{32 ) =% (2 To

(Bx+e) (e=3) =0

Xl wm D E Xl 5D
" Y3 w2
LY L ox= 3

[ind

T o

£

ﬁ)(.m, o
-

Wi fof s

257 = G 5 =g

Q- 4,
25 & axff‘:mLt K - E T

LET et

XlaX=4+1) «5Gx~+) =0

(2x =) (k=) = o

=5 Selutiony -5 m% L2

= Solukions

3) =)= =]

Numbers
b, =%
2, mq

?Fc;&u;::ft:

S;Q }’W\

-
-Ig

-7

i)w!Q

Numbars | Product

Stiwa

=]




@h g. 3){& W';(u I~ I S —
é’f

e TR ot

¢

3x(X —1) %8 (X~1) =0

ey (= 8) um
Ko 5 Q

A R
R o

Q6
a2l 3 e =9
X (23X =3) 3 (&x~3) =

25 o e =9 =m0
8]

(Rx~%) (X8} =

Pl R

(oW

L
31

) (=8 = ~1§

i

’EM -5
55

Numbers

&L{‘N}

=y Selubons = L,

(278) = =18

-5

WA

S trem

L, =18
2, =9
%, =4
~%, &

@ Selukromg - '*-%;; -3




